Problema LIM-A1-103 : Limite
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LIM-A1-103- 7esto

Calcolare il seguente limite:

lim 4 +5x% — 2x

X—>—+00

LIM-A1-103- Procedimento

lim v/4+5x? —2Xx=+0w—o —> Indecisione

X—>+00

Sfrutto la proprieta (a—b)(a+b) = a* —b?

(\/4+5x2 )(\/4+5x +2x)
lim V4 +5x%> —=2x = lim =
X—>+00 X—>+00 ( 4+5X n 2X)

. 4+5x% —4x? . 4 + Xx? 400 . .
= lim = lim = — Nuova indecisione

O JA+5XP +2X T4 45%% +2x HO

X —> +00 4+ x> ~ X

X —> +00 J4+5x% ~/5x? ~

4 + x> NG

lim = |lim ————=lim —— =+

X—>+400 /4+5X2 +2X X—>+00 X\/_+2X X—>+oo\/—_|_2

LIM-A1-103- Soluzione

lim f(x) =+

X—>+00

www.robytutor.it pag. 1di 1




